Multiply and Divide by 10 (H)

Find each product or quotient.

5.067 X 10 = 9.3247 =+ 10 =
48 +10= 0.8+10=
7.9811 X 10 = 9.09 - 10 =
85+10= 3.464 - 10 =
0.8x10= 6.2869 =~ 10 =
546 +-10 = 8.54 - 10 =
9.254 +-10 = 2.7031 x 10 =
3.8x10 = 0.578 x 10 =
3.2025 x 10 = 044 +-10=
7.122 +-10 = 3.172 - 10 =
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Multiply and Divide by 10 (H) Answers

Find each product or quotient.

5.067 X 10 = 50.67 9.3247 =10 = 0.93247
4.8-+10=10.48 0.8+10=0.08

7.9811 x 10 = 79.811 9.09 +~10=0.909
8.5+ 10 =10.85 3.464 +- 10 = 0.3464
0.8x10=8 6.2869 +~ 10 = 0.62869
5.46 +- 10 =0.546 8.54 - 10 = 0.854
9.254 + 10 =0.9254 2.7031 x 10 = 27.031
3.8 x10 =38 0.578 X 10 = 5.78
3.2025 X 10 = 32.025 0.44 - 10 = 0.044
7122 +10=10.7122 3.172 +10=0.3172
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